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[3 marks]

Cp=0.7 in Equation 2.4.
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AC In rf:w f@rca, is negligible.
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(d)  Calculate wind induced drag force {Fy) on the pile. Use Cp=1.0 and density of air,
p,=1.1703 kg/f“3 in Equation 2.5.

Drag force, Fw w—z-ﬂpa{f@%i{f@ ~~~~~~~~~~~~~~ Ha.
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K
o

(b)

median grain

=

Assume that you have beer tasked to design a rock breakwater consisting of an
armour layer, secondary (under-layer) and a core made of quarry run to protect
the basin of a fishery harbour (see ?‘;gfffe 5)

Show on a ske ci” af /
(i) armour layer {(ii) s

/

Determine the crest level of the breakwater for 2% exceedance probabili
providing a 0.6m freeboard for settlement and water level/wave exceedance.
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Symbols:

h= water depth, L= wave length, Lo=deep water was
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